Organi c Cune Cctober 1999

1. (20 pts) Describe, via equations, three nethods for formng a
glycosidic linkage. Do not include the nethodol ogy di scussed by
Prof essor David G n.

2. Professor David G n proposed a direct dehydrative
gl ycosyl ati on procedure based on the use of diphenyl sulfoxide and
triflic anhydri de:
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a. (20 pts) dve two possible nechanisns for the reaction with
particul ar enphasis on two possible ways in which the hem acet al
m ght be activat ed.

b. (10 pts) Wen the CH was | abelled with oxygen-18, the

di phenyl sul f oxi de obtai ned after the reaction contained a
significant anount of the label. Which of your two nechani sns
fits that piece of information?

3. (10 pts) Wat is the potential problemin using DVSO instead
of di phenyl sulfoxide in a reaction |like this?

4. (10 pts) Perbenzylated glucose glycal can react with

di oxi rane and the resulting product treated with a mld Lewis acid
and al cohol to give a glycoside. Wite an equation for the first
reaction.

5. (20 pts) Professor G n applied his nethodol ogy to glucals.
An exanpl e is shown bel ow
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G ve two possible mechanisns for this reaction given that when 180
| abel | ed di phenyl sulfoxide is used in the reaction, the is
essentially conplete transfer of the |abel to the hydroxy group in
t he product.

6. (10 pts) Wien the glucal used in the |last question is treated
with thianthrene-S-oxide, triflic anhydride and N-TMS acet am de,

t he oxazol i ne shown belowis produced in 70%yield. Gve a
mechani smfor the formati on of this conpound.
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